Math 262 - 22 November 2019  
MGF s and SUMS of RVS  
If X and Y are independent rvs and 
$$W = X + Y$$
, then  
 $M_w(t) = M_w(t) M_v(t)$ .  
 $M_w(t) = M_w(t) M_v(t)$ .  
 $M_w(t) = M_w(t) = E(e^{t(x+y)}) = E(e^{t(x)}e^{t(y)}) = E(e^{t(x)}e^{t(y)}) = M_w(t) M_v(t)$   
More generally: if  $W = a_1 X_1 + a_1 X_2 + \cdots + a_n X_n + b_n$   
 $H_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_2}(a, t) \cdots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_2}(a, t) \cdots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_2}(a, t) \cdots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_2}(a, t) \cdots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \cdots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \cdots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \cdots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \dots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \dots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \dots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \dots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \dots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \dots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \dots M_{x_n}(a, t)$   
 $M_{ore}(t) = e^{tL} M_{x_1}(a, t) M_{x_1}(a, t) \dots M_{x_n}(a, t)$   
 $M_{ore}(t) = (1 - p + pe^{t})^n$   
 $M_{x_1}(t) = (1 - p + pe^{t})^n$   
 $M_{x_1}(t) = (1 - p + pe^{t})^n$   
 $M_{x_1}(t) = M_x(t) M_y(t) = (1 - p + pe^{t})^n (1 - p + pe^{t})^{n_x} = (1 - p + pe^{t})^{n_x}$   
 $M_{very}(t) = M_x(t) M_y(t) = \frac{1}{2 - \infty} f_x \leq y \leq 2$   
(a) Suppose you know that  $X = x_0$ . What is then the density of  $Y$ ?  
If  $X = x_0$  is fixed, then  $Y - U_{off}[x_0, 2]$   
 $M_{org}(u) Howo does this relate to the point
density f(x, y) and the magnial density f_x(y) | x_0 | How does this relate to the point
density f(x, y) and the magnial density f_x(x) = \int_{-X}^{T} f_x(x) = \int_{-X}^{T}$ 

Observe: 
$$\frac{f(x,y)}{f_{x}(x)} = \frac{\frac{1}{2-x}}{\frac{2-x}{2}} = \frac{1}{2-x} = f_{y}(x(y|x))$$

$$D \in F | N | (T|ON \ DF \ Conditional \ PDF: \ f_{y}(y|x) = \frac{f(x,y)}{f_{x}(x)}$$

$$Recall \ conditional \ probability of \ events: \ P(A|B) = \frac{P(A \cap B)}{P(B)}$$
(c) If  $x = \frac{1}{2}$  then what is the probability that  $Y \leq 1$ ?
$$P(Y \leq t \mid X = \frac{1}{2}) = \int_{\frac{1}{2}}^{1} f_{y}(y|x) dy = \int_{\frac{1}{2}}^{1} \frac{1}{2-\frac{1}{2}} dy = \int_{\frac{1}{2}}^{1} \frac{1}{2-\frac{1}{2}} dy = \frac{1}{3}$$

$$Note: \ \frac{1}{2} \leq Y \leq 1$$
(d) What is the expected value of Y given that  $x = x_0$ ?
$$E(Y \mid X = x_0) = \int_{\frac{1}{2}}^{2} \frac{1}{y} \cdot f_{y}(y|x) dy = \int_{\frac{1}{2}}^{2} \frac{1}{2-\frac{1}{2}} dy = \frac{1}{2} \cdot \frac{1}{2-x_0} \int_{\frac{1}{2}}^{y/2} \frac{1}{2-\frac{1}{2}} \frac{1}{2} \cdot \frac{1}{2-x_0} \int_{\frac{1}{2}}^{y/2} \frac{1}{2} \int_{\frac{1}{2}}^{y/2} \frac{1}{2-\frac{1}{2}} \frac{1}{2} \int_{\frac{1}{2}}^{y/2} \frac{1}{2} \int_{\frac{1}{2}}^{y/2} \frac{1}{2} \frac{1}{2} \int_{\frac{1}{2}}^{y/2} \frac{1}{2} \int_{\frac{1}{2}}^{y/2} \frac{1}{$$

We didn't do #2 in class but it's here as another example:  
2. The joint pdf of X and Y is 
$$f(x, y) = 3x$$
, for  $0 \le y \le x \le 1$ .  
(a) What is the conditional distribution of Y given  $X = x$ ?  
 $f_{x}(x) = \int_{0}^{x} 3x \ dy = 3xy|_{y=0}^{y=x} = 3x^{2} \ f_{x} \quad 0 \le x \le 1$   
 $f_{y|x}(y|x) = \frac{f(x,y)}{f_{x}(x)} = \frac{3x}{3x^{2}} = \frac{1}{x} \ f_{x} \quad 0 = y \le x$   
(b) What is  $E(Y \mid X = x)$ ?  
 $E(Y \mid X = x) = \int_{x}^{x} y \cdot \frac{1}{x} \ dy = \frac{1}{x} \cdot \frac{y^{1}}{y^{1}} \Big|_{y=0}^{y=x} = \frac{x^{2}}{2}$   
(c) What is  $Var(Y \mid X = x)$ ?  
 $E(Y^{1} \mid X = x) = \int_{x}^{x} y^{1} \cdot \frac{1}{x} \ dy = \frac{1}{x} \cdot \frac{y^{1}}{y^{1}} \Big|_{y=0}^{y=x} = \frac{x^{2}}{3} \ \sqrt{ar}(Y \mid X = x) = \frac{x^{2}}{3} - (\frac{x}{2})^{2} = \frac{x^{2}}{3} \cdot \frac{x^{1}}{y^{1}} = \frac{x^{1}}{12}$   
(d) Are X and Y independent?  
No, because the possible values of Y depend on X.